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NUMBER MAZE: TARGET 64 

Start the maze with zero. 

You have to finish the maze with a total of 64. 

You must follow one of the arrows each time. 

 There are two possible routes. Can you find them?   

START  + 6  x 3  ÷ 2 

       

+ 3  x 7  ÷ 3  + 3 

       

x 5  - 6  + 2  x 4 

       

÷ 3  x 5  - 11  END 

 

Which route has the highest total? 
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NUMBER MAZE: TARGET 64 ANSWERS 

Start the maze with zero. 

You have to finish the maze with a total of 64. 

You must follow one of the arrows each time. 

There are two possible routes. Can you find them?   

START  + 6  x 3  ÷ 2 

       

+ 3  x 7  ÷ 3  + 3 

       

x 5  - 6  + 2  x 4 

       

÷ 3  x 5  - 11  END 

 

The red and yellow routes show a total of 64. 

Which route has the highest total? 169 (the green route) 
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NUMBER MAZE: BLANK 
You have to start the maze with zero. 

You have to finish the maze with a total of 64. 

You must follow the path of one of the arrows each time. 

Can you find the right route?   

START       

       

       

       

       

       

      END 

 

See if you can find someone to solve your Number Maze Challenge! 

 

 


